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Part — 111
SOCIOLOGY
Maximum : 80 Scores
/ General Instructions to Candidates : \

e There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.

e Read the instructions carefully.

e (alculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

e (Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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9027

Part -1

Q. Nos. 1 to 5. Answer all questions, each question carries 1 Score. (Scores:5x1=35)

Which among the following is not a factor responsible for the decline in the child sex

ratio in India ?

(2)
(b)
(©)
(d)

Female infanticide
Severe neglect of girls babies in Infancy.
Selective abortions of female fetus.

Boy babies are more healthier than girl babies at the time of birth.

To overcome biased and incomplete knowledge about the society, we have to look

ourselves through the eyes of others. This is termed as

Which among the following statement is right regarding caste in the present India ?

(2)
(b)
(©)
(d)

Caste is invisible to both upper castes and lower castes.
Caste is visible to both upper castes and lower castes.
Caste is visible to lower castes and invisible to upper castes.

Caste is invisible to lower castes and visible to upper castes.

In Sociology, gender inequality is considered as inequality.
(a) Natural

(b) Biological

(c) Physical

(d) Social
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Part -1

1 2)®@8 5 0160WBSH af)eld GaldBIIBRON) DOMV af))®)dh. BIGOO GAPOA

aflo : (crpodav’: 5x 1=15)

@I6¢  alo@MAXIGd  malad  u3luo)eloNdMIald®moe  @BIOIMN@IM

GHOVEMAIBHITN® aR® 7

(a)  6alend Udlud)a Oy

(b) 613351 BHEBISIBS BHOCIMAOW BRAIVEMM
(C) ©alend (B)FM a0

(d) 2OMIVIVO BRYMBBISIBUWB HAINBBISIHEBHNUT @R]EOIN |MBBAIVOVE)

6)HI6NE .

V2RO H)Ol2}BS GRaNBENAI aldHald®al00)20V @ROIAT ®OEMo 6121QOM3
M MOM®EOIN AYBBAIOS DHIMBSILNAS  EMOSTNDHOCTMTB@ENE.  DGIOM

ag)(Mm) al0@)aM).

©®06¥  al0@)IM  (AITV®IAUMBSIT  RODIOW  MLoNUTWla]  AUGHAOMB0EI

MO0 103 YOBIWOVD aG® ?

(a) 9WVWAM ROTNBNIBLN) GOYIN RIBGNHNIBAN)o LM @RBEYUO A6,

(b) 9WAM ROGNBNIBEN) GOYAN RIBGIBNIBEN)o RIMI BYU N6,

() @09am R0GNEHIBHS RIG 3§01 DVWAMM ROTIBNORLS @BV AN,

(d) ©@09am 20GNE9IBHS LROG BRBEIVIAI DWAAM R0TIBNBBS ByUdLQ1A0EM).
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5. Which among the following is a process of structural change ?
(a) Industrialisation
(b) Secularisation
(c) Modernisation
(d) Sanskritisation
6.  Match the following : (Scores : 5x1=5)
A B C
i. | M.N. Sreenivas Economic Liberalisation | Capitalism
ii. | British rule Electronic Money Westernisation
iil. | Globalisation Himalayan foot hill 1991
iv. | India Modernisation Ecological Sustanability
v. | Chipko Movement | Sanskritisation Trans National Corporation
Part - 11
Q. Nos. 7 to 11. Answer all questions, each question carries 2 Scores.
(Scores : 5x2=10)
7. The goods that people buy and use are closely related to their status in society.
Which term is used to explain above relationship ? Who coined the term ?
8. Define sex ratio.
9.  Write any two permanent traits of tribes.
10. Elements of British colonialism lives on in contemporary India. Give two examples
from the experience of your daily life.
11. Explain briefly, ‘Time slavery’ in the IT sector.
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11.
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@069 al0@IAMAIVIE3 *LISMIAIOAIW NOQMBE (A I(BHIDaB® ?
(a) QIITVOVAIBEHOEMo

(b) 2EO@OAIBEHDMo

(c) @RWMIBHAIGILNOM

(d) MG ®AIGENBEMo

G210)0alS] GalBHe)D (capodav’ : 5x 1 =15)
A B C

i. | af)o. ag)ad QLMD 2)®EI0sl oMo

waladlannay’ DBIOAUTIHNVMo

ii. | EnAglayd @@6Mo SDEIBE(S06ME a6l aloURDIOMYQUBIBHB6Mo

iii. | @REUIBAUBDGNHVMo | a0lNILIVAT GIYQID 1991

iv. | enamy BRYWIMHAIBEN0Mo | aldo@laubl@ila: avyrudlom

V. | aflaiGdd (@1unoMo | MoV ®AIGE90eMo | GOTBRINO C3HIBa|EOaH

Part — 11

7 @@ 11 0169® af)£10 G218 BUdAN)0 DBMAo af) V)@ 2 GaVIA alloo :

(capodav’ : 5 x 2 =10)

@RYB)HUB TLOWMEBUZ AIBIIMMo DalECIUIBNMMDe TVAOTTIOL! BRAIOYOS
a18afleamaLalajosm. D@ aV)a la 39008 aB® a1BA0EM DalCIWlENM®) ?

gD alBo 0)al6a|S)OTNV® @RYO ?
ellonoM)aldo®o M1@Q2 166
CVIMAUBPRHHODHS MLl MVANECNHDBHSITB aBO® BRI} HOMBEDOALI®)E

€8T QYIS EWaHlajdhUB DM I3 MleINlcdee)am). Mlanges
063Moclm lalle@dilad alan)e E6NE)3IAO0EMEIBUB af)PI@)H:.

aflaie avoee@id: (6ag).Sl.) caaILINIGE GHeMea|SIaM TvawIsla®loe (Time Slavery)

211006 QilaIdle) .

5 P.T.O.



12.

13.

14.

15.

16.

17.

18.

19.

9027

Part — 111
Q. Nos. 12 to 15. Answer any three questions, each question carries 3 Scores.

(Scores : 3x3=9)

British industrialization led to deindustrialization of a few sectors in India. Write down

social impact of this phenomenon.

Define Sanskritisation and write down any two criticism against this concept.

The first phase of Green revolution increased inequalities in rural society. Discuss the

statement.
(a) Analyse the role of newspapers in the growth of Indian nationalism. (Scores : 2)
(b) Name the Malayalam newpaper associated with National movement. (Score : 1)

Part -1V
Q. Nos. 16 to 19. Answer any three questions, each question carries 4 Scores.

(Scores : 3 x4 =12)

(a) Differentiate a social map from a commonsense map. (Scores : 3)

(b)  Which of these map is more objective ? (Score : 1)

Critically analyse the impact of national development projects in tribal areas on the life

of tribal communities.

Analyse the impact of commercialization of agriculture in rural India.

Explain the role of media to fight against oppressive social practices and superstitious
beliefs.
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Part — 111

12 2)®@8 15 Q160 ago®&slenoe 20MENOTIM 2OMOA)®)d. 3 6Gapod afloo :

(capodav : 3 x 3 =

Endlglay’ Q1101VOVAIBBBHOEMo DADYVIOE! 2ilel CanILIGSIT3 @RaIAIYAITVIVAIG3
Ho0emolm  (deindustrialization) &00eM?AIW]. NP  (AIGIEITVo  DHEMNBINROW
MLOMAO (I YOPLIODEMUB )Y

TMoMUBHIOAUMEN0EMo W@ 2 NlBO)H>. DY ALBHEIMAHNOMTI0WIBES
aBo®sslele ee alladuomeRud ag)91®))w.

a0d® aflgjoiodilan @RBieeIge (PIEleM VAPOBIES GRAVAMIo AIBUWlaflaj). 0

(INV®oQIM aflelle)o1m)d:. (corpodav’ :

(a) M CBUTIRMWNS AISALVIG AUBGHAIM al(@EBUBANMEBOIOMN Al

ailvodEIMo 621>, (corpodav’ :

(b) eBUTlEITUOIMANRW] NI )M DRIV al@olong

CalOQ9)®)). (eapod :

Part -1V
16 2®@3 19 Q190 aBO®B;ILNo 3 GaldB3IEBUIGH DTMOHANLI®)d>. 4 LA all®o :

9)

3)

2)

1)

(capodav’ : 3 x 4 =12)

(a) aLOMO)E)aISo (Social map) ALOMIMIGENIOW ©)alS (commonsense map) ATEIG3

TlaMo af)sBBOM Ql®PIVOR|SIBlEaM] ? (capodav’ :

(b) MAUXIM aB@6M D)5 AUNV@)Wlayo ? (capod

CO® QIBYW (a1EBUEBEITE MSa 089 CRWIR AlGHIV®M alBLDINHUIB CUNI®
AUBVENDES  HlAOOHIENTMRIGNMN (A I®PLI®EBUB  AlladuMI®DBHRNIW]

alleidloyom ). (capodav’ :

SLHIOS AMIRAUIGHN06Mo  (NIAIAM NN VIENMBISHIW (A I®ILID®EIBUD

aflod®EIMo OalQd. (capodav” :

2338  qLOMEONy  @Yaldo  @RAWANWIIVENEBl  (UGIEEIWlENMMGIE3
DOWNEIBUBANBS altd QflaIClee)d.

3)

: 1)

4)

4)
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Part-V
Q. Nos. 20 to 23. Answer any three questions, each question carries 5 Scores.
(Scores : 3 x5=15)

Explain and relate age structure of population with the dependency ratio and

demographic dividend.

Analyse market as a social institution and substantiate your answer with an example of

tribal market.

Describe the changes in Indian industry due to Globalisation and Liberalisation.

Briefly explain the impact of globalization on Indian culture.

Part - VI
Q. Nos. 24 to 27. Answer any three questions, each carries 8 Scores.
(Scores : 3 x 8 =24)
(a) Define social discrimination.
(b) List the major forms of discrimination faced by SCs & STs.

(c) Critically evaluate state and non-state initiatives addressing discrimination based

on caste and tribe.

(Hints : Reservations, legislations, reform movements)

(a) Define civil society. (Scores : 2)
(b) Point out any two examples of Civil society initiative. (Scores : 2)

(c) Examine the relevance of civil society organisations in the contemporary India.

(Scores : 4)
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Part-V
20 2)®@3 23 A1 aBo®EsILl)e MOANANATIM 2OMOHAYY®d. 5 MO afl®o :

(cpodav’ : 3 x 5=15)

RMAVoRIJWIOS  (IDWELISMOW  BRHYUIIMIMA®ONe  RBMAVoEIa QAW
eneailaol®manao©] mimwlala] alvodleolee)s.

aflalemlo® B0) AVINPOITVNIAIMOHAM MIRIVIG AlVGEIMe O2IQGID:. CUO®
aflalemen® 9B0A00MMIOHWS)T MIBBB)ONS OBV AVIWDHGIHN).

@RYENIBAUGILNOEM  DBOOAUGILNOEM MWEBUE MLl HAMYMT  QAIOITVOW
QoUAMYNEOW 20QeoUd AllLIV)OTm)w.

DN TVoTVGHIADHIMA BRHYEUNIBAUBGBHOEMo TVYaHSla] (A IMDLIOMEBUD 2 )O)A6)
aflaIdlee)w.

Part - VI
24 moal 27 a00was8  caodisdlal  agooslello  MemMenoarim’

DOMONAY)@)h. 8 MDA afl@o : (capodav’ : 3 x 8 =24)

(@)  auomaoy aflealaimo MlB@Q)a lae)w.

(b) aISle 200 - algld AIBPHHOB EMAIS)AM (IWOMealg allcalaimeanud elqy
Q12 1>,

() 2ROGNWOSW)o  CUI@BBIOSW)o  @RSITVOIMOILNSS  AllcalaIMeBUd
emals)an@lm’ @(aY-00(Ylno  avoceISMBE  MUllddlal  (UIHRGBUD
afla@uomocndaw afleilo)m)s.

(A21M : ALoAIBEMo, MWAMIBR6Mo, MANlGHEEM (A ITLOIMETBUB)

(@) 1M V0o MBQ 2 lBe))H. (capodav’: 2)

(b) 21D MVYPOOTNOMG YIRETBUBHS ABODEILIo OENE DBIAOVENEIBUB af)P)®).

(capodav’: 2)

(c) QIRTAOM B»Hel NI IVIG alDO TVMPOBTHIONW (ITVHBE] alGlCUOUSKe)D .
(capodav’: 4)
9 P.T.O.



26. Analyse the sociological significance of Panchayati Raj Institutions.

(Hints : Structure of Panchayati Raj Institutions, inclusion of marginalized, power and

responsibilities.)

27. (a) Define social movements. (Scores : 2)

(b) Explain theories of social movements. (Scores : 6)

9027 10



26. aloIDEDI0ER MLOCAIMEBBBIOS VA0 MAV(@AlOAOW (AIOWIMYe AlUdEIMe

02109} .

(MIMBHWB : alaDINVORIE0E ALNIAIMEBROS *LISM, aldBUIAUGENTNLEONA|S

afleonsnes 9u3eEaIBEH@3, BRUIB00AI 2 NADGIEIGHSB)0)

27. (a) aLOMOY (AITVLNIMEIBUE MIABQ| 2l (capodav’: 2)

(b)  aLOMYOY (PITLOIMEBBOBHN N 2}BS AVIRLIANEIBUD QNGB ). (capodav’: 6)

9027 11



SECOND YEAR HIGHER SECONDARY EXAMINATION MARCH 2018

SUBJECT : 500:0608%

CODE. NO: JO27F

Qn Sub Answer Key/Value Points "score Total
No , Qns . |
1. i(ci) 60y bables ase st M;;f% Thour 1 4
| gl babls ot te tive § birTh.
9. | Seld Ye‘p(,ucivi% or Re.—fLeau'v[% : 1 1
3, OG> Casle o vikible Ao both wpplh cacle '
| OR / !
| ) Casle o ischle o bowth qantdd awl ;|
L aavischle o uppth cRaTis
A docid ; [
51 @ TWM;M i b
6. { A 23 = :
MN Spnivad  Sowkadgadam  weslerniy T
f p ) . alitwa !
} Brituhn Rule Moolwmgmw Cap { | ‘
- Glbalgatun  E Ldimmse Moy Cz“?}i&’fi‘::;" 5.5 |
ey A . , |
Imolia ot &Zfeﬂp L lag/ l |
Chapko Move Himal foat byl o looc
et g g gaowa“m/ !
7. SAalas Aé//w'baf - I 5
% ™Max weber /
8 | ‘DW Sex Ratbw 0 2

"V



Qn.

No

Sub
Qns

.—

Answer Key/Value Points

Score

Total

AAMH 2 W Trasls ({Z Trches

1/

10.

N 37y&wv, oleee , Jwa‘a‘uﬁ,
gfwj ool Oyvut[; - OF omg sThet

uilihle etavmplis

A L4
L ?mgim educaton , Parlimanto g sas‘ﬂul

+1

11

Lo'y\g howrs [ over mgld nrk fo

Fonask  th W/Naw; .?mvk
Ay two

I+

12.

Decliae 3 5ld  enirs
‘DMWZLM&/L a( collaﬁe, L‘V\ﬁ(»(/‘/ﬂ/(;‘:@
%P;Zﬁ aotd to  Caoch crﬁfJ
'A/vv% 3 )V/M ﬁoow,é‘

Artisamts “ab amdsmmsel fracklind rafl

Ix3

13.

Dolendisn of Sommbrcdcr clan
A,:g 2 OLL’;]L«.‘SM, g .

14

Worsond the comalibpn 7 Tnd less
Mﬂ( M/u%ml Wb‘fu’}
OL\O{OW &_Zfzjrwv;m CQ/)&O}
Pom’ Wﬁoka,uu

SI‘PWQ C “V\" /’ )
Regiownd  mnequralily

Ameg 3 g

IxX3

-5,




Qn.

No

Sub
Qns

Answer Key/Value Points

Score | Total

15.

IG.

Bomobed ounte- ca[nw'at/ﬁubhé ﬁfv/'ubu

A’”’H .,,L,WV?;A QZN Nezs ZZM& promald
EW&’MM

Cb)

Common Zamst Maf
Fea tiwn 03 Soccal Mﬂf
Lo MA./) ‘

h - ma . -
Areg m ‘/JOW‘*" x2

Lu:,‘&,cnj %VMW

.Da‘s/oo&s esSt'om O] davd | /:L«.’Vala 'ow”?
or Lavsl ) 5095(7

g et ey

8.

—

W in Ha Adabensgliy belwen
Lod  Lorolt Maf‘% bf)

- Rese d;d Aans ﬁz.'é‘yu,wu}e (absrr
- enponsed

[ﬂfvbt p WWM

c«MJ w-D‘T/u/ﬂ’
a.DwnA?,( + epbilbblion - a

el o~ cash

AN

Lo o LY. (,v\:'to' t/;llafc& | X
quor_&/‘m&“ éﬂ

PTO




LLE

QOn.
No

Sub
Qns

Answer Key/Value Points

Score

Total

19

Role § media agaimel” wzowmua?
W u chld M»wbu
W e . Oslracism @] wiclons
, olh Aafls

woooon woom bnuﬂ» Mc"mg_

(Awy 4 Acdopnd poind)

18 [ e

IX4-

20 .

D y ~,s/bww/&4/$,e} wndin
@?mm:m oav?fliwl y.
E sl blishrmsnd o} Loliton bebweu

Lovvaf‘bs

Ix3

Driten Poup s0cal Relatuma, Sociaf
"./\A'{/(M.. , Social MW%’
SOQ.':»L‘B{ evwbedaol etonommies
cAans Mﬂuq’-‘% W)
[;‘\rwy 3 m,(amt fobm’a“) |

| Sk slontiall with examapiis

22

IX3

2

CTele comn | civel aviatuon , Powesr el)
Mdtiaratvonedl Compares ( MANC)
Reslier Nmnantn eynfylo el
Out 43omfﬂx.uf') )%W@M o
Su ‘ - .
wrvommaling Papl 1 heints]

Dhrain v eslvmends, Forn Foredun unvestmpd

Ixs

7




No

Sub

Qns

Answer Key/Value Points

Score

Total

25

Glocalisatn 3] Cudture , Foviegn

Food G emoler G Cudthe, Cottne

Conns o, Cordaoraﬂ culine,
Q‘r],,,,“tu;wfwﬁgwbm raft and
Likinarey Tradechons oud oy

TV Channls, nmaic & Sl prgrme

IXs

24.

Mwm g o thd mindran

Dir i nahsn b g sc BT
Stads™ avel Nom-~ Ltk cvit ali ws
Rissnvation in Electons, eoluealom

& EWW

P/fOM:S Y y el_é-m-rm Monemeita

oy 4 Alasmsak frocins il 4] -

T«n{»afw L.LTMWQ Condli e XY

25.

Achimibion @ Gl Socicdy

Ecolegeead nwfl- | aupra o | Ixa. _:Z‘ 2
Lhnnriad oolult e by or
Al = covrupZion ety

EA’Wg 2

.TM«

Lap lowe PIYAMEE Tn a ComBummparang

Pro

5/



Score | Total

Qn. Sub Answer Key/Value Points

No Qns

2% . Llrwebire dg Pouchagdde Raf 2
Porer ¢ R pmu‘/x'&'&o} 2
Rus ervalion turb\ruvnt—wQSC-$S'f 2 3
hmlw;%cb 6& X()“'A.)%. o/ SI‘W‘ ot | 2

at. Defgmifvon of Sociut  Movtwant | 2

Explanaivm of Theory 7 MMM&MH 2
A 2

T " G:”Q(IL'W allion g
! w o 10 Rsowrce Mobigalos 2
(. Abolud Somad ke % Q49 F 644303
2 Bowolu Mewom @ Qolw  F4F6uTEAR
3. Bondu P hwrsyo ke \7./ 44728678
4 Jshn TV ?/*‘9‘53/9&5—7
: %

6. M;.&qam KA BT 23370

¢ Fegae j"‘ﬁ/”“M 7447 €[035)

3. Rinu TA }A/ 77

8. 10/%&-/) Soge.éﬁy W
I Sofi Yeoge s T

o ﬁ\rf@/’b R Pollas \A% 9

@46 15 SO8D

G767 042)
't 63 B3Y)
(| 97 45F

——

/¢



	HSE II SOCIOLOGY March 2018.pdf (p.1-12)
	HSE II SOCIOLOGY March 2018 Key.pdf (p.13-18)

